UET-21 / SECTION-A
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Name the type of tissue found in respratory tract.
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What is the difference between the motion of an object moving with uniform speed on a linear
path and that on a circalar path ?
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Gtate the relation between the momentum of a body 'and the force actimg on it,
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How tan we obtain different gases from homogeneous mixture of air ¢ Draw a How diagram
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Give one word for the following :

(1)  Group of cells with similar structure and designed o give highest effidency of
function.
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(2) The process of taking up a permanent shape, size and functon.
(3}  Animal tissue connecting muscle to bones.

4 Kidney shaped cells that enclose stomata.
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“All the objects in the universe atiract cach other”. &

(a) What is this force of atiraction called as ?

(b) Mame any two factors on which this force of attraction depends.
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You are provided with a mixture of Iron filings and sulphur. Answer the A
following questions.
(&) - Which fechmique can be used o separate the components of mixtore ?

(b}  MName the gas which is produced when the mixture is treated with dilute sulphuric
acid at room lemperature 7

{c) Write two properties of gas evolved in part (b).
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Dhstinguish among three states of matter with respect to the property indicated

()  Density
(b}  Diffusion

{c) Farticle motion
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Wrile down the physical states of waier al :

(a) OC ()  100°C {c)

(Give also reason)
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Drraw the diagram of an animal cell and label the following 5

{i) factory of ibosomes.
fify  powerhouse of cells.
(iiif  thin and elastic covering of the cell.

{iv)  director/brain/conirol centre of the cell.
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Classify permanent tissues in plants.
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Deseribe an activiby with diagram to explain conservation of momenturm.
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A ball -is thrown vertically upswards and returns 1o the thrower after 12 soc {_g=_£l-5t my/s’) find :

{i} The welocity with which it was thrown wp.

{i) The maximum height it reaches,

{iiii} Itz position after 8 sec.
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7 | 5% 9 H ol (km)

|
| 06-45am | O

07 -am | 8

01:30pm | 8

01:45pm | O

The following table shows the position of Renu, while she is going to her school. Draw the |
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distance time graph for the travelled for her motion. T
Time Liistance from her
homme (ko)
06:45am |0
0F:00am | & N
t01:30pm | 8
[ 0L:45pm | D A
|
|
15 e Tl gy Teria ) TRl U2 %1 w9 e 4 Boe w5 wieE W = wm w ? 3
Define inertia. Why some of the leaves may et detached from a tree if we vigorously shake
its branch.
16 3 Ak afi % s fafed fael o) o e ¥ = 3
i} kgms™? i} kgms—l iy Mmkg—?
{iv) | {w} ms— 2 [wi) ms— 1

Name the physical quantities whoss units are given below
{i] kg ms—2 [ii} kgms—1 itk Mmd kg4

{iv) N [w] ms 2 [wi ms—%
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A farmer had a plot just beside the bank of a river. Each time his Kharif crops, got damaged
due to flnods. He consulted the agricultural scientist who gave him 2 special variety of seeds
and also advised him to practice fish farming,

(i) What was the specialty of seed grains given (o him ? .
(f)  What name can be given to this pe of fish farming ?

(iii) Tow the farmer was benefitted by the advice of agricultural scientist ?
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Fxplain river Lift system. Where is this system more applicable ?
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Explain what 15 a mixture? Nume the two types of mixtures. List two pomls of ditterence
betwesn them How would you confirm that a colowrless liguid given to you is pure waler?

2 @) Wﬁmwmmﬁhaﬁmﬁim%ﬁ%ﬂaﬁmmﬁmﬁ? 5
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(a)  Dlustrate an ackvity o demonstrate that particles of matter have spaces between them.

by  Explain why a diver is able to cut through water in a swimmming pool
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Complete the following flowe chart :

B l

Suspended components Fhuid matrix
in fluid matrix
| =k
i! __WEC_| i
| Typed

e [ [CE 1 CEl .

[ ] Name one more type of connective Hssue
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(a)  Fstablish a relation between gand G.
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(b} Write the units of ‘g and ‘G’

() Which force accelerates 3 body in free fall ? A ball thrown verlicafly

upwards
Comes t0 rest after reaching ata height. Why 7 What is its accelerstion. while guing up ?
L
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(2} (b)
{2} Derive the equation of motion, Zas = v2 — by graphical method,
{b) Which of the following distance-time graphs is possible 7 Give reason lor vour
answer.
Y L]
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A
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{a)  Mention the type of shelters which sheuld he provided to catties in dairy farming and

for berds in pouliry farming,

(b) Memtion the preventive measurcs taken to control diseases of dairy animals and

poultry birds.
uUM-4d / SECTION - B
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Metanil vellow is an adulterant mainly found in:

(a) mustard seeds (b} turmeric powder

{c) wheat, maize, rice {d) Pulses
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Ot of the [ollowing steps given below the right step to test the presence of starch in the given

food material -

(a) Took the food matesial in a test tube, and added Todine powder on it

(b}  Took the food material in a test tube crushed it and then added lodine powder.

ic) Took the food materdal in a test tube, crushed and added lodine solytion

(d)  Took the tood material in a test tube, diluted it with water, then added dil.Tlcl
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When a mixture of iron filings and s-ull':lhur powder was prepared, it was observed that the
cobour of irom filings is -

{a) grevish {b}  reddish

(<) vellow _ (d) gresm
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When iron filings and sulphur powder are taken in china dish, mixed properly and heated
strongly then :

(a) an element is formaed. -
{b) a compound is formed.
(<) a homogeneous mixture is formed.

{d}) a heh.:mgmenuﬁ mixhare 15 formed.
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different methuds are given below -

Students were asked to study the reaction between 1

| | Procedure

| Observations

@ [Mixed powder of
chloride and sodium sulphate

bariom | The

colour  of  mibchure |
changes to vellow

(i} | Mixed solutions of bagum
didoride and sodium sulphate

Thick while precipitate is
formed

(i) | Added solution of barium Solution becomes turkid

chloride to  sodium sulphate
powder

E;} Added  schation of  barium Mo change is ohserved -
chlordde o sodiom sulphate

L[ solution | |

The correct method is -

(a3 {1 B @ )

L A

rarinm chloride and soditm sulphate. Four

30 ﬁnfhﬁa?rﬁilE]‘riﬁﬁﬁrnﬁmﬁﬁmﬂaﬂﬁﬂﬂﬁﬁmﬁﬂaﬁwmﬁﬂﬁt:

i)

{z)

The cell

(a)
(x)
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organelle which is not found in human cheek cells s -

Cell membrane (b)  Nucleohs

Cell wall (d)  Cytoplasm
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(a} A-¥=EF, B-ZERe (b)  A-EgES B- AT
(c)  A-Flewm, B- S (d} A-¥gEeB-F=%

In the following diagram; the correct labeling for A and Bis

|

iE;
(@ A-Nudeus;B-Dendrite (b) A-Dendrite; B - Axon
(e} A - Axom ; B - Nudeus (d}  A-Dendrite; B - Nudens

32 % FHIfET TS TEs A ¥
(a) g by FEm @ (&)
The colour of the pure ammoniom chloride powder is :

{a) while {b) Blue () gTeET {d) red
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(a) o0 gwt {b) 68 gwt -
{c) Bdgwt (d)  32gwi

A student was measuring minimum force required to just move a wooden block on a
horizortal surface using a spring balance of least count 2 gwt. When he dhecked the spring
balance, he observed that its pointer was 2 divisions below the zero mark on the scale. He
performed the experiment and observed that when block just starts moving, the pointer is at
32~ division on the scale. He caloulated the foroe applied. [ts correct value will be :

(a) 60 gwl b) 68 g

@ 6dgwt () 32gwt
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Four students A, B, C and D are asked to WM#M The following diagrams
show the preparation done by theo. Name the student wwho will be able 1o prepare colloidal
solutions. Write two properties of colloidal solufions.
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Kaushal leamt how to determine the boiling point of water in his school laboratory. When he went to

Leh in summer vacations he found that there tha water boiled at a temperature lower than the boiling
point he obzerved in his school laboratory. How would you explain this? =

I uF IE 1 gE TEnmm W e g fEfE fem v e sewiie $E % 9van feeten 2
1 SEF 4.8g T TR B s W e WREE YRR w5 e
| fErET

A student recorded the mass of dry raisins as 3g and the mass of raisins afler soaking in water
as 4.8g. Calculate the percentage of water absorbed by raisins, Write one precauntion of this

experiment
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